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13.4 ಈ ಕೆಳಗಿನ ಹೇĺಕೆಗಳĹಲ್ರುವ ದೋಷಗಳನುನ್ ಹುಡುಕಿ ಸರಿಪಡಿľರಿ. 
 
ಹೇĺಕೆ ಎಡಭಾಗ(ಸರಿಪಡಿľದುದ್) 

1.4(x–5)=4x–5 4(x–5)=4x-20
2.x(3x+2)=3x2+2 x(3x+2)=3x2+2x 
3.2x+3y=5xy 2x+3y=2x+3y 
4.x+2x+3x=5x x+2x+3x=6x 
5.5y+2y+y–7y=0 5y+2y+y–7y=y 
6.3x+2x=5x2 3x+2x=5x 
7.(2x)2+4(2x)+7=2x2+8x+7 (2x)2+4(2x)+7=4x2+8x+7 
8.(2x)2+5x=4x+5x=9x (2x)2+5x=4x2+5x 
9.(3x+2)2=3x2+6x+4 (3x+2)2=9x2+12x+4 

 
10.x=–3 ಎಂದು 

 ಸರಿಯಾದ ಉತತ್ರ 

(a)x2+5x+4 ನĹಲ್ ಹಾಕಿದಾಗ (–3)2+5(–3)+4=9+2+4=15 ಆಗಿರುತತ್ದೆ. x2+5x+4=(–3)2+5*(–3)+4=9-15+4=-2 

(b)x2–5x+4 ನĹಲ್ ಹಾಕಿದಾಗ (–3)2–5(–3)+4=9–15+4=–2 ಆಗಿರುತತ್ದೆ. x2–5x+4=(–3)2–5(–3)+4=9–15=9+15+4=28 

(c)x2+5xನĹಲ್ ಹಾಕಿದಾಗ (–3)2+5(–3)=–9–15=–24 ಆಗಿರುತತ್ದೆ. x2+5x=(–3)2+5(–3)= 9–15=–6 
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 ಸರಿಯಾದ ಉತತ್ರ 

11.(y–3)2=y2–9 (y–3)2=y2+(3)2-2*y*3= y2+9-6y
12.(z+5)2=z2+25 (z+5)2=z2+(5)2+2*z*5=z2+25+10z 
13.(2a+3b)(a–b)=2a2–3b2 (2a+3b)(a–b)=2a(a-b)+3b(a-b)=2a2-2ab+3ba-3b2=2a2+ab-3b2

14.(a+4)(a+2)=a2+8 (a+4)(a+2)=a(a+2)+4(a+2)= a2+2a+4a+8=a2+6a+8
15.(a–4)(a–2)=a2–8 (a–4)(a–2)=a(a-2)-4(a-2)=a2-2a-4a+8=a2-6a+8
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